al

bl

)

d}

method. {show waorking)
267 + 489 + 33

BY 5RO K20

g% 56825

895 + 786 + 105

Simplify

Tk + Sk
M % N
Bg « 31
oab + 4dba
By % 1
oy + 6+ 2y
Tk + 0
Ttow 3t
g~ 7
Sik — 2k
fy -3y
6g + 79 - 350 =
gl + g

Expand
a(f + 5) =
75t -3 =
iy + 4
yih - 213
kiGt + Sy)
S(9r + 4)
39y - 1)
67 + 2)

al S(7y+3)+ 33y + 8

by 2(Gk + 3) + 6idk + 7)

o) B3t + 4) + 506t - 2)

d) 5(9g+ 3) + 4(dq - 2)

el dy+ 5(6y+ 9) - 45

f) Gi6k + 3) + 47 - 12k}

g} 49m + 71 - 36m

hi Q{Ge + 5) + Gie - 43

name

53 Simplify

al By+9y-y
b) Gk -6k + 4k
c) Yy+5 -5y
di 4k ® 5k

el 79 7h

f1 9cd - cd

Q) ¥+ 8+ 0K
hl Sabc— 2a
iy Gk + k3
IR
k)l By=3y=0
1) 8y + 6y - 5K
m) 7t + 9k -5t - gk

hl GBr+8h+6F-h
o) 9p+&8t-9p-7t

6) Expand

al 6(5y+ 9]
by Tyldy - 82
c) Sf(7g + 6f)
43 Ski6k - 7y

71 Factorise

al Sy+ 15
by 6t-19

cl oaf + 12
d) ak + ay

e} k< + 3k
fl 9m+ 15
gy Th-21

hl 12y + 13
i} 4d - 6k
v 9n+ 12
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